[N of reco track vs normalized x2 ]

| N of associated (recoToSim) tracks vs normalized x?

N of associated (recoToSim) looper tracks vs normalized x*

9] F 1%} F 4] 0
x L x o x x
3] N 5] 5] 5]
g . g g g
= 10 3 10 5 b
E 8 g
g
al al .
10°F 10 4 3
10°F 3 10°F
10°F 10°F
10F 10F
o +f ; I S s TTTT ) )
Pk d 11—,*‘!%-:---1— ; {
Lo AR 1 THE L E [ 0.9}
OV REETTRE TR F | adhc 113 N
"0 2 4 6 8 10 12 14 16 18 20 0 2 4 6 10 12 14 16 18 20 416 18 20 0 2 4 6 8 10 12 14 16 18 20
track x2 track x2 track x2
— —oTTgT 7 |—Fu| :cl—iucvv\%uum
Srecotaks ] ——— DM BiseIPECRIGR) o) ba S hewgeom =
(%] 1%} F 2] 0
X [ X F . . . . X 4
& 8. o g g
5 = 10°F = 0 5
[} 3 2 E <t
g F s g
10°F s
E 5
F s o
Ee
A -
10°E;
Br
10%F
10~
o <} o y )
3 3 : g 12 3
o4 o LSpr--i- o4 o4

0.8}

track x?




	Contents
	Page 1


